20.

21.

22.

23.

24.

SECTION C — (8 x 10 = 30 marks)

Answer any THREE questions each in 500 words.

Simplify f(A,B,C,D)=2m(1,3,4,6,9,11,12,14)
using Karnaugh map and the minimized logic
circuit with AND-OR gates.

gmirGarm euanguL_Lb epevid

f(A,B,C,D)=%2m(1,3,4,6,9,11,12,14) &(H5E5.

sMmESUILLL Cemamesatar sréass spap AND-OR
QUMUNGO&ET ELPGVLD B(1HS.

With function table, explain the working 8 to 1
multiplexer.

GeweLm’ { oL eimerer 8-1 Licveder germrsd)
(multiplexer) G]&uJeburn'_k}mcar afleuf.

Design 3 bit synchronous up counter and explain
its working.

RHEIG@LDGETET 3 @e&s e eramanilenil culg QUGS
9\Fe Qeweum_enL_ ergigs.

Describe the construction and working of Wien
bridge oscillator.

aflwar ume e@eulupBuier siemwlimuub, Ceume
Qe yb elgsamsud efeur.:

Describe binary wéighted method of D/A
conversion.

g erenL (wpenm D/A wnpdeowr edeufiss.
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SECTION A — (10 x 2 = 20 marks)

Answer any TEN questions each in 30 words.

What is the binary equivalent of (11.75),,?
(11.75),,— @ SO FFITIg. GTEHT WG] ?

What is Karnaugh map? Give its use.

ST GUETLILLD GTEITDIE) CTENEN? DSET LILIGNEs
(5.

Show that A+ A-B=A.

A+A-B=A aas s ()s.

What is half subtractor? Give its logic circuit.
ADTE GYIILITENT GTEIDTED CTENQT? SGET STHFFHDMDS
S(lhd. : )

What is negative edge triggering?

erélit efleflidL) 2aESSFIQUEELD GTETHTED GTEIEN?

What is a ring counter? Why it is called so?
euenaTW eTeTenfl ETETHTE) ETENAT? DIF TET GTEUGUT)
Sjmp&EaLiLBE DG ?

What is virtual ground in op-amp? .
CewH@unsSudler wmu genyulaeanTiivy eTemig wimg)?

_)_’LI B.Sc Pkyasic.ws . ]n-\e%mj.w\ Eﬂe&)’on;c_««&_



10.

11.

12.

13.

List the main characteristics of an ideal op-amp.
QR Gl QewnGuimadiuder

ueTLsenerl) LI guiedi(hs.

&S

Draw the pin diagram of 555 timer.
555-ara syereilufer Blampenans LIL s cuans.

What is a multivibrator? What are its types?
ue a{;_f,]r'raﬁl GTEITMITED GTEITET? DSHET CUMSSHET WIMTENEU?

What is a multiplexer? What part of a computer
uses of multiplexer?

uevellen eatprédl erempred eremen? SewflGLMHuded
eriiuEulier @& LwearuBSsILOH DG ?

What do you mean by BCO code? What are-the
redundant codes in it?

BCD @iui® erénpréd eramen? 2ifled o cer Coanaupp
GOURSET Wreneu?

SECTION B — (5 x 5 = 25 marks)

Answer any FIVE questions each in 200 words.

Using 2’s complement representation for negative
numbers perform the operation (-26)+(-17).

(Use 1 sign bit and 7 magnitude bits)

adli@ eramaErs@ 2—an Hlyid wpenpuied GHudl G
(-26) + (-17) erep Qeweme Qs (GHUlgheE 1
Qasssmsd erenr WANADEG 7 GebshiEmETLD
vwerL(RSSeLD).
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14.

15.

16.

17.

18.

19.

Explain the universal property of NOR gate.

NOR gate-eir Qg Lamenu ellaTs @

Draw the circuit of 3 to 8 decoder and explain its
working, :
3 to 8 @Mib&dluen LL b euephg SiB6m Qawoum e
cfleréEGs.

Explain the working of J-K flipflop with logic
circuit and truth table.

8i&ss sHm LHMIL QA i Leumaryer J-K fleae

wrdludler Qeudur’ L ciletsas.

Derive an expression for the voltage gain of a
non-inverting op-amp.

yr_Lenp (op-amp) Qeup@QupsHlen eararpss
QumsasHnsrer Garaneuani aumadl.

Explain the internal architecture of 555 timer
with diagram.

LLsgLer 555 sme SareNfen 2 eTsl LenwilienL
Mers@s. R

Draw and explain the operation of 4 bit serial-in-
serial-out shift register.

4 @oss Csmi-oea—Ggrm-Geuefl GQuwTFAL
udellufenr UL  eumHE  igem  Geweum L
cAlemd @
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